HSR-YRA;.HSR-YRM#A:.HSR-XYR#:

w (E) L w (E) L
4-Sx¢ L1 eo| 4-gDo 4-Sxt IE; e0| 4-¢ Do
— B == 1 L ¥ ¥
Bl = gde N [ SR - d2 N ) ) fo
“@Ho 5L ) [ 5
" B [ (K) hL . M @: : ©(K) hl . . "
- S X - Y £ £ | ——
;?T”T 'Vh[ T DR @k 'Vh[ L - =Tt
il — T L ( T T T T
Wi | (Ho) | ga Wi (Ha) L1 g
W2 W2 |
HSR15~35YR/YRMJ HSR45~65YR/XYRF
B mm
SE LMZ7Ow o<E By VBTN LML —IU& BEAEEEE| BMEFSE—XV M KN-m* B
=S|’/ (RS B B |EvF R G | G MQ yl% »M‘i M70y 7 (LML=l
[FUORE B ME & 1 )— ] [STay |8 & 0 Jay =
28 = | b | W
M{w|L|[B|B|c| sxt |L|K]|N|E | fo | Do | Ho +(‘3Nd5 Wo | My | F | dixdexh | Max | kN | kN | 118 |eE2g| 118 |2B25| 18 | kg | kg/m
HSR 15YR 3000
28 |33.5(56.6| 4.3 [11.5/18| Max5 |38.8|23.3|8.3|5.5|PB1021B|3.2[7.9| 3 |47 15 | 24 | 15 | 60 |4.5x7.5%5.3 10.915.7[0.0045(0.527[0.0045|0.527|0.0098| 0.18 | 1.5
HSR 15YRM (1240)
HSR 20YR 3000
FaR SovAy | 30 [435| 74 | 4 [11.5|25| M5x6 |50.8| 26 | 5 [12| B-MeF [3.1[34 3 | 4 20 (315 18 | 60 | 6x95x85 | {300)198(27.4/0218( 1.2 |0.218| 1.2 |0235 025 | 23
HSR 25YR 3000
LR SovAm | 40 [47.5(83.1| 6 | 16 |30| MEx6 |59.5345/10(12| B-MEF (35| 8 | 3 |55 23 | 35 | 22 | 60 | 7x11x9 |07 127.6(36.4/0.324 1.8 (0324 1.8 |0.366| 0.54 | 33
HSR 30YR 3000
Hon oovAy | 45 [59.5| 98 | 8 | 16 |40| Mex9 |70.4| 38 [10|12| B-MeF |52|92|52| 7 28 |435| 26 | 80 | ox14x12 | 32001405(53.7(0.599| 3.1 |0.599| 3.1 (0652 09 | 48
HSR 35YR 3000
NoR aoviy | 55 [69.5[109.4 8 | 23 |43| M8x10 |80.4[47.515(12| B-MeF |55(126/52(7.5 34 |51.5) 20 | 80 | ox14x12 | 3200153.9|70.2(0.895) 451 |0.895 451 [1.05| 1.5 | 66
HSR 45XYR | 70 [85.5139| 10 | 30 |55 |[M10x12| 98 | 60 [20|16|B-PT1/8 [6.1|1665.2| 10 45 | 65 | 38 |105| 14x20x17 | 3090 |82.2|101| 1.5 |8.37| 1.5 |837[1.94| 26 | 11
HSR45YR |70 |85.5(139| 10 30 [55|m10x14| 98 | 60 [20[16|BPTI/8| —| —| — |10 45 | 65 | 38 |105| 14x20%17 | 3090 |[82.2(101| 1.5 |8.37| 1.5 |837[1.94| 26 | 11
HSR 55XYR | 80 [09.5{163| 12| 32 [70|m12x13|118] 67 |21 16| B-PT1/8[56]17.7] 52| 13 53 | 76 | 44 [120| 16x23x20 | 3060 [121]146| 2.6 [14.1| 26 [ 14.1[3.43] 43 | 151
HSR55YR |80 |99.5|163] 12| 32 |70|m12x15|118] 67 [21|16|B-PT1/8| — | = | — | 13 53 | 76 | 44 |120| 16%x23x20 | 3060 |121146| 2.6 |14.1| 2.6 |14.1[3.43| 43 | 151
HSR B5XYR | 90 [124.5190.5 12 | 35 |85 |M16x 181385 76 [ 19|16 |B-PT1/8 [6.8|146/5.2| 14 63 | 93 | 53 |150| 18x26x22 | 3000 [195|228(5.08| 25 |5.08| 25 [ 62 | 7.3 | 2255
—— 1) HSR-YR/YRME OB /57 IS 1-481 3 1 [Z M1-483E B 22 L)
U EOERB B EaMaxid. LMU—LOEERAES ZRUET, (B1-204 S58)

HE:LMT Oy 7 HEICHIF 2EEFRE— ATV b
& LMT Oy U Z2E®EE LICIRE T ORI EE— XV b

BRHEE—AY b

HSR25 YR 2 UU Co M +1240L P T M -I

uz_poﬁ,g LMijg B;E'Tm M5O ,773\ LMU—ILE& LMIJ—JI/ A—F@E(c JOvoeRTHEL HERICEHENTVZTO Y V2 RLEHERRSHUUEIESSDBEDTETT .
OiEsE = ZFUURE  (mmER) | #Ens EEAND HOPERRR P EEREE RS NZBAF IOy JRRLMENLET .,
LMU—ILD | sizgsne (A1-519% /(3 M1-541 i8)
1BCESDED SUTL IR 27U HUHENOESMIE.LMITO Y 2 LML—IU R—LOHBENRR TV U AETH 2T EERLTNET,
LMIOvoDER BEES)/EFEC]) EEs AT VU AEIE R CTHREE CBNCMRDIS D E T,
FFE(C0) AR (L S)/ LR (H) /4528 (P)
HBrEZ R (SP) /R (UP)

) CORURER I#I=Y T 1set& LET . QEMTTRADBEDUHEHF. Rif2setE1ED £ T ,)
HERBAZHTORE. JU—AZy TV EE B A BERBAZAEHETI V-2 y TR ZHLENDBAERE THKICBHWEDE K EE L,
BIEEFEBRIEM1-5458 . SIY 7T EHES(EA1-745R BEELSEB1-798R. A—FTCEASINIWMHBES (&
A1-1324,

B1-194 THIK

STV YO—RETI=AILTART
FUTBEREL TS

https://tech.thk.com F&F 73 >r=>R1-505

TR [1-195




